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Instructions for the candidates :

Candidates must enter his / her

1. Wl oMR SO AE v @A k-
. N Question Booklet Serial No.
W YR mEiE (10586 @) (10 Digits) in the OMR Answer
savq frd | Sheet.
o wWarl Furgva-SrA. weml @ gt 2 Candidates are required to give their
. answers in their own words as far
IW I as practicable.
3. afEt v vt v R g7 I “{Uﬁ?? 3. Rgures in the right hand margin
v indicate full marks.
Fifie & &1
4 §E @ & Rafgb- q-@._—} F fow 4. 15 minutes of extra time have been
allotted for the candidates to read
15 fiFe 71 Jfafie o far mar &1 the questions carefully.
5 I8 NV9T o @Sl ¥ & — @Wug-37 U9 5. This question booklet is divided into
’ - two sections -— Section-A and
HUg-F| _ Section-B.
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In Section-A, there aré ;DU objective

out of which any

type questions,
wered.

50 questions are to be ans '
First 50 answers will be evaluated in
case more than 50 quest _ 3
answered. Each question‘ cqmes

1 mark. For answering thes

the circle with blue / plack ball pen
on OMR

jons are

e darken

against the correct option
you. Do

blade /

Answer sheet provided to
not use whiténer / tiquid /
nail etc. on OMR-sheet, otherwise
th; result will be treated invalid.

In Section:B, there are 30 short
answer type - questions, out of
which any 15 questions are to be
answered. Each guestion carries

2 marks. Apart from these, there are

8 long answer type questions, out

of which any 4 questions are to be

answered. Each ‘question carries

5 marks.

Use of any electronic appliances is
strictly prohibited,

S-I {—| 17001-9/70)

Page 2/48

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

1 (110

@Ug - A / SECTION - A

TEGS ¥ / Objective Type Questions
T W 18 100 7% & gy & wry aw e Ay v § R @ v w4 e
S0X¥ & I 7 grey g we Frew wt oMm ¥ wT RifdAA F -

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any
50 questions. You have to mark your selected option on the OMR-Sheet. 50x1=50

L 64 % ST o A 2 A i 3
3 4 | B 5
ugr 6 D) 8
The exponent -of 2 .in the prime factorisation of 64 is
(A 4 | N B S5
C) 6 | " D 8

2. wmmp,qixwwmm.mw%

B pxa) | = 2

q

© p°q° o 4
H.C.F.[p,q)xL.é.M.(p,q]isequalto

A)  (pxq) ® £

q

2 2 ' | D 4

{C) pia (D) o
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) B den % 07 ot
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The degree of any polynomial is
(A) fraction number (B) negative integer

(C)  whole number (D) none of these

IS ax? + bx+c, a £0 F oIG Bar &

(A . (B W@
(€ W @ S o) - fawEeE
O -
| ) o
The graph of pol}tg&mal ax?+ bx+c, @ #0 is
@ . |
(A)  circle (B) parabola
(©)  straightline D) hyperbola

Y% 2, 8 AT SgURl B GEAT Bt

A 1 B 2

C) 4 ‘ - D) IO
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(110]
The number of polynomials whose zeroes arc 2, 8 is

A1 B 2

€ 4 (D)  infinitely many

6. Torelt Fou g & v it 2wt 63, it e g @

(Al x*+12x+8 B) x2-12x+8

©  x?+4x+12 D) x%-8x+12

If zeroes of a quadratic polynomiul are 2 and 6 then the quadratic polynomial is

(A) x? +12x+8 (B) x?-12x+8
(C) x? +4x+12 - (D) X2 —8x+12"

7. o0 W y2+16y+ 55 F &

@ R o (B) I TAEHH
. N |
C) U 4ieT® G (D) @AM

S -

The zeroes of @quadratic polynomial y2 +16y+ 55 are
(A)  both negative (B)  both positive

(C) = one positive and other negative (D) equal

8. aﬁ:agfﬁ' 2x2 +5x -k & YAH TH T b FoRA &, e T AT

(A 2 . B -2

1

© 3 o -3
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: : : . . then
11 rerocs of the polynomial 2x? +5x -k are reciprocal to each other the

value of k will be

A 2 @) -2

(€) o -

1

2

a. T px)=x2+5x-12A p()) FM AL
A)  -12 B) 6

) -6 D) 12

If p(x}=x2+5x— 12 then the value of p (1) is

@ -12 B 6
Q
© -6 g@

‘Z§b .
10. T WHEO 2x$§=3 T 12y +6x=6 FEAL
B

D) 12

(A IS & Tl | B) THE
© e ' (O) A &

The solution of the pair of the equations 2x+4y=3 and 12y+6x=6 is

(A)  no solution (B) one solution
(C) two solutions ' (D)  infinitely many solutions
S-l | =] 17001-s9/70) Page 6/48
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1. Frafefam 3§ e =i vaf @ oo k2
(Al g (B) TME

(€) =ge=® (D) A faaeH

Which of the following is not a measure of central tendency ?

(A}  Mean (B) Median

(€)  Mode . (D) Standard deviation
12. W 14, 15, 13, 16, 14, 15, 17, 13, 15 TEFF &

@ 13 B) 14

©r 15 N D) 16

g\\
| ¥
The mode of obser@?&sns- 14, 15, 13, 16, 14, 15; 17, 13, 15 is
@$
A 13 . B 14
© 15 . D) 16

13. mfmmﬁ@rﬁww% |

A 2 /(Bf 3

) 10 | (D) 20
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~Tic mean of first five natural numbers is
4) 2 (B 3
© 10 D) 20

14. W 8, 12, 7, 14,6, 13, 15 I TN ¥

A 9 B) 10
© u - wr 12
The median of the observations 8, 12, 7, 14,‘ 6, 13;15:is
A) 9 | (B). 110
© 11 | D) 12
15. HEF F A T aﬁz‘mﬁrﬂwmwwm%
| (A) "™ (B) WS
fm’ Ce - O A

The difference of three times of median and two times of mean is equal to

(A) mean (B] median
. {C) mode (D) none of these
S-I |- 17001970 E Page 8/48
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16.  a [N arell g @ # AEE

(A} a? (B) l'g—ﬂﬁ
V3 o 1 2
(C) = a (D) ke

The area of an cquilateral triangle with side a is

(&) a2 | (B) _Jiﬁ_a'z
(C) -‘?—az (D) -%-ag

17. R TU A wify sk ot =7 o <At g A F FwER @Al
(A) IO W A% = o & BEEA (B) . 99 BT SAF < A H %A
(o} ﬁﬁrmﬁaﬁﬁé\ D) TR FE W
Ny
If both the cucum{g&ce of a c1rcle and the perimeter of a square are equal to

88 cm then §
(A)  Area of the circle = Area of the square
(B)  Area of the circle < Area of the square

(C) Areaof the circle > Area of the square

(D) None of these
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18,

19.

20.

=i e o T TR R o 3 &), At S et 8

(A VEe @ B JZa TR
(€) 3aT®R Q}' J6a EEQE
If each edge of any cube is a unit then its diagonal will be
(A} J3a units (B) . v2a units
(C)  3aunits (D) | J6a units

&mgw“mﬁgalﬁ@ﬁﬁ?ﬁﬂ@waﬁmm

| 110

@A) sRPHEEEE (B —é-‘.ltRzH PERCTH
) FHREFEE o O ZaR2H T
_ g\\Q ;
N ' _

The volume of a (2{ circular cone whose radius is R and height is H, 18

. Q® ~ .
(A)~ =R?H cubic units (B) LaR?H cubic units
(C) %RH 2R cubic units (D) -g—uRzH cubic units

af < I & QT P TUT 4 : 25 % G IH!. Bronet U wIW

(A) 3:5 B 5:2

(€ 1:5 * (D) 2:5

S-I | =] 17001-(69/70)
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L= o

22.

23.

[110]

If the ratio of the area of two circles is 4 £ 25 then the rato of th{:lr radii will be

A} 3:5 B 5:2

© s D) 2:5

2 TR G W R (13 - 2n) B, A GEH T ITE

(A} O B) -13

-

(@ 2 P -2

If the general term of an A.P. is ( 13 - 2n ) then its common difference is
@& o0 (B -13
€ 2 ' D) -2

WA ST 126, 120, 114, ... F FH-W K 08 7

L

& 201 B) 21
- L ~® 3 o
G 227 ~ (D) 237
D .
Which term of th%&. 126,120, 114, ...is 0 ?
§§

(A)  20th - - (B) 21st
€ 22nd (D)} 23rd

THEIT AABC H £B=90°, AB=12 U, BC =5 TH T AC = 13 Tl & @ sinC

T FW

5 2

@ 3 SN 13

12 D 13

© 5 (D) 3
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24.

25.

26.

(A).

In right AABC, £B=90", AB=12cm,

equal to
S5

A 35
12

€ 13

a’&cosﬂf—pﬁitanﬁiﬂmm

I-—p2

P

P

R

If cos @ = p then the value of tan 0 is

1=
(A) pp
S
(Cl £ 2 Q‘§)
1-p $& |
I N
Sing
(A) cos O
(C) scc 0

sec Bxcos B =
(A) 2

€ 0

(B)

(D)

(B)

»

(B)

(D)

(D)

(B)

D)

Glen

w5

s |-

s |

l1+p

cosec

cot 6

-1

“101

BC = 5 cm and AC= 13 cm, then sinC

S-1 |—]17001-69/70)
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2T T coto- J_: AT coe 0 W T R
\"_\
i A) \'_‘- l
: (3} 5
@ 2 N =
J3
]
If cote= - then the vatue of sec 0 is
vJ3
(A) V3 (B) %
- 1
A2 \(9\ el
28, TR A=45 T sin A+ cos A =
&y V2 (B) —};
(C) 1 : Db 1
2 N
\Q
g\
If A=45"° then sin\ cos A=
QQ
w 2 ® -
1 .
© 3 Do) 1
29, I 2sina=2TWa=
(A) 0° (B) 45°
© 60 D) 90°
S-1 |—| 17001-(9/70) Page 13/48
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If 2sina=2 then a =

(C) 60° D) 90"
30, lan2 1’ )
cot69"
A 0 ﬁ/ 1
| 1
© -1 _ D 3
A AABC-AQRP, ° (AABC) =3,AB=18ﬁﬁach=15£r-ﬁ?frPR=
#o (APQR) ¢

(A) %0- - - ®. 10 ¥
© 8¥H \\Q@ o) 12¥

. ® ‘ . '

- C]_E = d BC= 15 cm then PR=
If AABC ;:‘.q)m-‘*,$ {APQR]-4,AB 18 cm an 5
$
@ 2cm B 10cm
() 8cm . (D) 12cm
3. af5 APOR H PR2=PQ?+QR? Tl 2Q=

(A)  60° (B) 75°
(C) 45° (D) 90°
. S-I |- 17001~9/70) Page 14/48
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In APOR AT PR < pO? 4 OR? then 2Q»
(A} 60° (75

€} ase (D) 90

3. APOR W, T 5 ol 1 g wpmail po awr pe e w0 SR ¥ BF ST | OR. A
PS = x Arf, SQ= (x~2) A, ppa(x+2) @l @am TR=(x~1 ) f it
oA gm '

(A) 4 ¥ @ 45T

€ 39 (0) 35 A

In APQR, S and T are points on the sides PQ and PR respectively such that
ST[IQR.If PS=x cm, SQ§(I_2)¢m,pT=(x+2]cm and TR=(x-1)em

: Q
then the value of xjs @S\\
, \g‘§
Q

(A)  4cm @$ (B) 45cm

€ 3cm D) 35cm

34, AABC'H T D @R E %R Yeell AB @ AC R T VSR & 6 DE || BC. AR

: AD _4 _ e
D_g_sa:l’RAc 18 Tt @ AE
) s¥R B) 6
© 10 D 2Edw

S-1 - 17001-(69/70) Page 15/48

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

-~y -
2d.

36.

[ Bf
In AARC, Dand E are points on the sides AP and AC respectively such b
~ . AD \ -
DE || BC. i AD =i and AC= 18 ¢m then AE =
DE 5

() S em (B) 6 cm

(C 10 cm ' (D) 12 cm

o ¥ e et g e e @ i e Yl & 41 4 €
J\ 10 ¥ - B 69

o 123 D) 369

The distance between two parallel tangents drawn on a circle of radius 6 cm is

(&) 10 cm , (B) 6 cm
: N\
Q
(C} 12cm &S\\ (D) 36cm
O e .
o T fa g@rwwmmmﬁmﬁ?ﬁﬁ ?

@ T B
€ @F (D). RFHT
How many tangents can be drawn to a circle from an external point ?

(A) One (B) Two

(C)  Three (D)  Infinitely many

S-1 | —| 17001-g9;70)
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37. VW AFNT La0p=130" & ~LAPB B HA €

38.

A

(A)  130° B S0

€) 65° (D). 100°

In the given figure ZAOB=130"; then the value of ZAPB is
A

(4)  130° AN B) 50°
© 65

g T ameid d TP A TO ¥ W@ 0 ¥ g g9 W W VER & 6
ZPTO=50" [T £0PQ F WH &

(D) 100°

(A)  30° (B) 25°
(C) 45° (D) 50°
S-1 |—| 17001-9/70) " Page 17/48
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39.

40.

 The number of common tangents of ‘two. circles which

[ 11g.

. . ircle with centre O g
In the given figure TP and TQ arc two tangents 10 the ¢ o}

that /.’PI‘QzSUn , then the value of Z0PQ s

(A} 30° | (B)

(C) 45° (D) 50°

wm@wmwagﬁémmi@aﬁaﬁﬁw%

w o1 | B 2 |

© 3 o) A

touch each other

externally is
@ 1 BN . B 2
(Cy 3 QQ\ (D) 4

. Q ' V& : _
ﬁﬂ?ﬂ@"ﬁrﬁ%ﬁ O 9T 1 % § T LAOB=40" T LOAB 1M &

(A)  40° . (B) - 60°
© 8o . BN
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41,

(A

(c

\/L (B)
_ 8

©

(110}

In the gven figure point O is the centre of the arcle and ZAOH=40"then the

value of LOAR s

(A} .
(A} 40 (B)

C} 8o D)

y ¥ T ezt a1 qa g &

(Al i (B)
1 2 sQ\QQ (D)
(&‘g
Abscissa of all the points on the y-axis is
N
i (B)

(D)

3 FZmud satd

P '—‘ res

N
o
00 [»e
-#:lt--

D)

NI

60°

70°

any number

00 | e

|
FN

S-1 {—| 17001 -ws/70y
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| 3
The common difference of the AT 0, ’-It-. AR In

I
(A) m -

1
8

!
(C) m =y

-I-'I-!o—-

R T g A g (- 7) b, b e s Ll

A O | _{B’R -7
< 2 \_(p}/— 2

If the general term of an AP, is { 5n~7 ) then it firat tcrm i

@ o B) =7
@ 2 D) -2
\\@' .
frg ac0,-8) 3 B(@.o;ﬁﬁmﬁaﬁiﬁrﬁﬁamﬁqzﬂm#
& |
4  (0,0) @$ (B) - (-6~4)
M (-4-6) D) (-12,-8)

The coordinates of the midpoint of the line segment joining the points A(0,-8)

and B(-12,0) are

(A (0,0) o (B) (-6-4)

@  (-4-6) D (-12-8)

S-I |=| 17001 -(69/70)
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48.

49.

) and ( 3, 0 ), then its PCrimg;

: 0,0
If the vertices of a triangle are (0,4) (

f

will be

12 units
(A) 5 units (B)

5 units
(C) 125 units (D) 545

ﬁﬁﬁP(S-OI,OW,OJaﬁtms,uﬁaﬁﬁqﬂ?ﬁ@ﬂfﬁﬁ%

42‘ 24 T TR (B 12 T TS

) 48 o S © - pr s S

The area of the triangle formed by points P (3,0}, Q(7,0)and R(8, 4)1s

(A) 24 square units (B) ~ 12 square units

3\ .
(C) 48 square units g\\g (D) 8 square umts
RS .
19
Pt & Al I Gt AT B &
A)  90° f (B 180°

€ 120° D)  100°

The sum of all the three angles of a triangle is

A)  90° . B)  180°
(C} 120° (D) 100°
S-1 |={ 17001-(69/70) Page 22/4¢
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50.  APOR T po - pr 040" A P
(A) a0 (3 80°
€ 120 D) 100°
I APOR if PO = PR and £Q =40  then £ZP=
(A} 40° (B) 80°
€ 120° | (D)  100°
5Lk ¥ 99 5 & fae weor xedy=s A1 axky=0 WO T@E F wm
AT & 7
A} -6 | (E] _é-
© = (D)6
For what value of kﬁ\\ﬁ equatiohs x+2y=3 and 3x+ky=9 represent
coincident lines ? \g@%’ .f;www.biharmppcr.com
W -6 S g ® -
© 2 o 6
52. 3R %=s—;=:—; at i e a,x+by+e¢,=0 ?1‘?-IT ayx+byy+c,=0 HI "
&l B
a) R e (B) W E
©) o O T AR T

[110]
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H (1101
L_ob G : _p and
If — == ;-;— ihcn the solution of system of equations ax+by+c=
2 2 "2

a,x+by+c, =0 will be

(A) unique solution (B) no solution

(C) infinitely many solutions (D)  nonec of these
53. frfefaa ® @ wE-a o e §

_M x? -4/x+4=0 B) x2--L-ox
2
%
"2 _ 2 2 .2 132
(O 2x°-2x+1=(2-x)"+2 (D) x“+4x+4=(x°-1)
Which of the following is a quadratic equation ?
&)  x%-4yx+4=0 (B) X% ——=9x
X

(C) 2x2 -2x+ 1= (2-@5\'@+2 (D) x2+4x+ 4=(.vc2 --1)2

54, ﬁmﬁ—rﬁaﬁﬁﬁ@-@mﬁﬂmmﬁwqﬁ% ?
N

A 3(x+1)2=x*-2x+4 (B) 4x-x?=x%+5

(C) (V3x+/5Y +x%=4 ,4.5)/ 16 x3 =(x? + 3x)*+7

Which of the following is not a qﬁadratic equation ?

(&)  B(x+12=x?-2x+4 B) 4x-x2=x2+45

© (VBx+/5 +x*=4 D)  16x3=(x? +3x)2+7
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Il [110]

e fona anheam .7 pra p=0 % A TOE R, A p KA R

iy
"

(Al 4 B w0
<y 0R (D) W A

If the quadratic cquation 2x? - px+ p=0 haa equal roota then the value of

5 will be
Ay 4 (B] only0
€ 0,8 (D) only8

56.  TiE FHFN x? - kx4 420 F F G ARAAE TR, ok FHE 0

(A) k<-4 B) k>4
{C) -4<k<4 Q '(b] k=4
N
: 2 o0 .
If the equation x i@m-:o has no real roots then the value of k is
Q
@$

(A} k<-4 B) k>4

(C) -4<k<4 (D) k=4
57. 2 o a p Fra AdiE x2 - 3/3x-12=0 F TAE, A a4p-43=

(A} 3J3 B) ~-443

C) 243 D) 443

8.1 |~117001-e9/709| - Page 25/48
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. A i
-y #Fos i of ’
iC 2J73 () 443
3 T.':.—"":g,-e-_g_';';} '-3-"';437"4"":?
A} 52 ®y 55
€ 56 D) 59

The 14th termof the A.P. 3, 7, 11,... is
(A) 52 B). 55
€ 56 N D) 59

Q
%
59. T HfeiEa 4 =1 'H@ﬂ'l?‘l'{ ’Sﬁﬁf g2
@

\[P/—B,—G, 4,-2,.. Jm\/ 5, 15, 18, 28, ..
(C) 0-1,011,0111,0-1111, ... D) 1, %%2
Which of the following is an A.P. ?

(A) -8,-6,-4,-2,... (B) 5,15, 18,28, ...
(C) 01,0-11,0-111, 01111, ... o 113,
] 2!21
S-I |- -
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00.

61l.

62.

1

TEHITIy ‘:\.__- 1('\_ 1:” . 1. 4 EY o W Wy R

The n™ term of the AP, 16, 11,6, 1, - 4, ... 18
(Al 21+ 5n @) 21 -35n
[C'ﬂ Sn- 11 ir"l 11 + 5n

IO = oty R SFwe S SR GEE @, @ g ST

on

——

BIERETH

(&) = B) 2R
€ 3:FE : D) 4+ TR

If the circumference and the area of a circle are numerically equal, the dametes

of the circle will be

(A)  munits | \\@ (B) 2 units
§®
(C) 3 ® units NG (D) 4 units
\
3 aft freem aﬁ&% - SFA B
(A) 25n @ﬁﬁ . (8 36 9H’
C) 64n T3 (D) _1;_2 r S

The volume of a sphere of radius 3 cm is

. | ;
(&) 257 cm® M“ cm

o 421 em?

€ 64x cm’ 3

Page 27/48 .

Q-] |—]| 17001-(69/70)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

63.

64.

65.

[ 1.1{}]

% w3 =t afify 10n At &, @ g e @

(A)  10x /2 (B) .20 x Q2
@ 25z ¥2 , (D) 30m gt
If the circumference of a circle is 107 cm, then its ar¢a will be
(A) 107 cm? ' | (B) 2qn: cm?
(€) 25= cn.12' (D) = 30= cm?

@Wﬁmmm%ﬂﬁ‘m g q, 6.13rl=ﬁam 5 9t &, O TN
forenot Y orag B : '

(A)  s/5 | (B)". 1045 ¥H

©) 2045 @ _ D) 2545 WA
| \QQ

The length, breadth @\hcight of a cuboid is respectively 8 cm, 6 cm and Secn
O : _

then the length N diagonal is

$»
(A) 5/5cm : (B) 10Y5cm
© 20/5cm . (D) 25/5cm
4 3t Frear oY TG W QAR &
' ' ' -,
128 32 - 156 2
w = 2
7 B b
© 1w vl 178 i

S-I = 17001-69/70) Page 28/4

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

66.

67.

The areg TP
.ol' 4 semi-circle of radius 4 cm is

@ 128

f

sz

© 18 cp2

(B)

(D)

T R PR 0 v ) e ) aed 3 2

B 25%

3
C =
(C) )

&) 25%
3
@ 2
| | -'g\@@ |
e 7
T g@@%\m )
o
A) O
Cc -1

(a) 0

© -1

(B)

By

(B)

(D)

(B)

(D)

The minimum value of probability is

(B)

(D},

oV |}

3
2

™

(&[]

| Which of the following cannot be the probability of an event ?

(110]

S-1 |-
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{11

T TR ) S ) s e e o ) e @

68.
A o B 1
- 1
.(C) —é- :Q 3
A die is thrown. The probability of getting an odd pumber is
A 0 B 1
© 3 o 3
69. wﬁwﬁﬁﬁ%ﬁﬁrmﬁro-ﬁ, a 3o erY F i it
w 1 ® 15
o 3 o 2
‘ e then the probability of losing it is
! ili i h is 0-7 roba of losing i
If the probability o:é@ng a match is en _ ep .
N 1
w 5 ® 15
S .
.
© - o 2
70. &S ¥R @ b, T TH AR HI TGS H ¥ T T AGSAT Frehren S ¥, @
I 4T &1 ST &7 Bl Har &
3 2
A 5 L ® =
3
© 36 I
S-1 |~ 17001-(69/70 Page 30/'
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71.

73.

(110G}

A card i .
'S drawn g random from a well shuffled deck of playing cards, then the

probability of Betting a black king is

3
(A) 2%
1
(€ 26
sin30 .
& X —
300 cot30 =
(A) O
(C) 3
1-tan245°
1+tan? 45°
(A) sin 90°
(C) tan 90° S&@Q
&

(B}

(D)

(B)

O
& (7, 10}%&@9‘5{%% 2 -
$

(a),/ Tam g

© THEIE

(B)

D)

2
13
3
13

Zag e

94 T

In which quadrant does the point (7, 10) lie ?

(A) First quadrant

(C) Third quadrant

(B) Second quadrant

(D)

Fourth quadrant

S-I |-
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=
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- > - " -
- ST S — Iz . ——— —
W T ST BET R T SErTE T AL
=
-
- — -
.)/ T =3 A A
#
_—y - _— -
- - 4 A e -
p—— . - - S I ———
s S C-sTinmates of 2Ty OO o e X-ETS A0S O S Lt
- =
- — A, €
L F v = p N -
— - —
- ! e -
- U I e
— =
- - . - — . - - 2
— — — — - - = —— —_—— o — 3
3, -"9‘,'.'5-_: I :.I-WE-:_ =) 3_--‘_4- I~y 3 % -:_. - = - = -
& ) i
s S = =
- =
—'L-- ! Q\Q - -
P s —_— oy o
et i - pp
—
The ratas of e Bemorh of 2 rrad 1 i ebarm is 1-d2 e the srche of aket-s s
e Ak el . Ll e = L — M Lm LY e o emae il Y e U e e
'.--. r."'-— .
"~ s — -
(A 30° = £3:
- - . [
P &0° ™ Gt
1
-] . - b 0
-
[s1]-[17001<s0m01 |
— f
- ‘ .
i‘iﬂ; i i I b
s ui..\ - -
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77.

78.

79.

[110]

’ﬁﬁﬁﬁﬁﬁrm_x'y]ﬁiﬂ%
A mm -{B] 2 T
(C) (x+y)3$‘|§‘ (D) {xg_!.yﬂlgq;[é'

(A) m Units (B) f;ﬁ—_y—Q units
€ (x+y)units D) . (x?+y?) units
I P(5,7)-31% o(,11) & i gt

@ 31 e s

Cr 137w D) 6%

The distance between the points P(5,7) and Q(8,11) is

(B) 5 units

(A) 31 unit

its < @

3 .
(©) 13 units ¥ (D) 6 units
T

Wyﬂﬁﬂ-a@%%ﬁmﬁ@mﬁgﬁmw ?
@ (42) B (2,4)
(C) (4,0) D) T A FE W
The graph of the line.y = 4 passes through which of the following points ?
@  (4,2) B (2.4)
() (4,0) (D) none of these
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1110_

80. T fag & Fdwitws ¢

Y (0.0) (Bl

€ (-1,-1) (D)
The coordinates of the origin are

(A)  (0,0) (B) (1, 1)

€ (-1,-1) o) (1,0)

81. Fraffaa 3 wi-vh TRt oX W dEA§ ?

(A) O (B -1

€ 1 . D) 2

Which of the following is the smallest natural number ?

@ o Q B -1
| g\@
o 1 Y D) 2
S
g0, Freafefaa § w-e dRad e ¥ 2 |
S B B B
K — | 3 +43
© 7 BN a0
Which of the following is a rational number ? |
(A) ﬁg (B) Jg
- | | (D 3
(©) V7] D)  V3+/3
L0 Page 34/4
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i)
&

-:‘1“;‘_&‘.‘;&.\ ' i
EEUNUCH R Ul YR ey A ¢
g |.|

Yo

AT A
Which of the ¢ Cexge ¢ '
Ollow MRS aniveational number ¥

A 1.3

S
() 57

W p AR q A svrey e ¥, & 3 Ho Yo BN

M) V6

M) V5 x5

¥ 7]
Jrs

(A}

B 2

) 3 S
N
S .
If pand q are two@z;ne numbers then their HCF will be
N\

$

D) O

B) 2

(D)
83.

(B)

(D)

|1H}|

S-1
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on

-8
&
b

o 72
Ay 18 e
o) 2

i o = ® ) ?
{'12 T TTEG ] i R

= Z
W3
cy V6 Dj

The rationzlising factor of Y12 is

' 2
@ 3 g\@@ ® 2
S

c 6 \Q‘§ o 23

%Q ' r- _—
=z p T T T £ A B T i o &T
(4} 2p @ p+l
€ P @) 2p+l

If p is a positive integer then the form of positive even integer is
(A} 2p B p+l

Ci p (D} 2p=+1
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(110]
P TR i § o
17
"W g1
B >
41
0 3= ,
45 19
Yio)] 80
Which of the f,
Ollov.;mg has terminating decimal expansion ?
17
W 31 T
B 77
13
MK o 5
g, TG ¥ e qeeE W aria & 0
&
A 200 ,2;\@ B 5
® ,
QQ
g L& o L
\9} 121 400
|
Which of the following has non-terminating decimal expansion ?
17
1S - (B) %=
® 200 PR
' 14
' 13 ® 200
() 121 S .
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[110)

91. i o Fo ¢ /E HIT E @
(A) cos () = ¢os ¢ (B)  sec 0 =cosec $
(C) sin0=sin¢ (D) tan0=tang
If 0 and ¢ are complementary angles then
(A)  cos 0 =cos¢ (B) sec 0 = cosec ¢
(C) sin0=sin¢ (D) tanO=tané
92, sin?75 +sin®15 =
(A) © paf 1
-1 (D) 2
(€). S
N
03. ‘l+tan®0= ,§*
»
QQ
@ @/ ec?0
A] 0 s
(C) -sec?0 (D)  cos?0
94, 2(sin2a+cosga)=
(A 1 B 0
© 2 O -1
S-I |—=| 17001-9/70) Page 38/18
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a5

Of

- ,.-‘- .
(TR0 Keatd )

(A) 1

() -5

Tt Aa=180" G cosa =
(A) 0

© 1

If 30=180" then cos a =
(A) 0

1
© 3

&

(M)

(B)

(D)

(B)

(D)

R
TR asing=] 3R bc@&l W tan 0 =

\(5
n Q
(J k} b @

€ 1

If asin8=1 and bcos0=1 then

a
w £
€ 1

(B)

(D)

tan 0 =

(B)

(D)

-t

0

S

Sl-

Fii0]

S-1 |-
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1 (110)
1
08. -L PrgwTEAY ?
V3
(A)  sin 30° 451/ tan 30°
(C)  cos60° (D)  tan 45°
Whose value is % ?
(A) sin 30° (B  tan 30°
(C) cos 60° (D] tan 45°
99, Qﬁ'scc9+tane=x \"ﬁta.nBF
2 2
x“+1 x“~1
W B . =
2
© x2+1 X
\s@
Ifsec+tan @ = xt@t&nﬁ-
| %Q - x2
) B
.2
-1
c X D) x
© X241 ' X
100. sinZé+ =
¢ 1+tan2¢
A 1 B O
' 1
(C) sing (D). 2
S-I {—| 17001-s9/70)
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L

R W wiavri . b

e i
UL | Bhory Aowwins ¥ yps (punntiting

LT
T 3l ot By g 0 Pt 18 ot A e A 1 b sver
fhlif 9 ey, I:';r;m“ A {

1672~ 30

U“"’““"'” iy NPT W10t Flnt A
T r

1y :“”” Ohitiabiosive Aririies 1iriff /5 fffnar,lihnd.' Fer i
'f“’”l”“” (K7 !

Fritee; o /
.' ”””r " )"r ¥ ? " ':’J

~

¥. A4 14 » ' /¢ :
‘ / 1“1" Nl WA ot ant i Yan v b, gl Ay 30,k Y
I
, IHI ”H g M! ”H IHHH;{JJ -ﬂ’l*‘;;:l epbi F oy mie | l, i i} { 4. £ j st { -,:' "l
’/'/ Hir 1= ] ¥ i p
/ ﬁ I ?A“ )4, Pj'-"'!({: ST RN R GRS ol 24 ’
W gotsirite T
l ] A ( }-; # j! ’f |‘ 4, ’ ]' ﬂhr‘l f" !' f’- ", j mre f(,”;np;”v j-h,.“ flrld f?i'.‘
valile of b
43, -"flll',a w1 iy (I t L A <§®
/ 1”;1,‘!J§‘%J” A y,
N,
Preve tht ( @ w ti5n’ A
] 4 r:,.i A ! ‘
4'.'
’.‘A”H MR 5? ) 2J2 xst1u0) ® oy W 2
Plﬂd 'h!" rocits of ”lf, quudr]!u‘ rj({u;,“f)n I’J - ‘Zﬁ: z4lal)
5. oAbz Ywal s s Tk wpwn e am 10§ o e v 2
_ f
If the sum of & number and its reciprocal is -i-f- , then find the number.
S.] |~| 170015171 Page 41/4%
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&

-1

10.

11.

T W7 21, 18, 15, .. F ELW R 81 K ? ;

¢
a"‘

Which term of the A.P. 21, 18, 15, ...is -817
30 FAE N # S1 7a w5 freah qe 2a ¥ 2
Find the height of an equilateral triangle whose side is 2a
mﬁmﬁﬂwﬁﬁ%ﬁhﬂﬂ;(z,”?ruﬁﬁﬁﬁm(5'7i§§’5?
fFevi® 9 F:1U - 2
The co-ordinates of the mid-point of line segment AB are ( 2, 4 | K the

co-ordinates of A are ( 5, 7 ) then find the co-ordinates of B.

g & 1+.COSB + sin 6 = 2cosecH.
sin@ 1+cos®

1+cos@ siné

sin® 1+cos® 2coseche

Prove that

o N . | |

%ﬁﬁﬂﬁ%?ﬁ?%@\@ww ¥ 3 B T y F AT AR 30, W
‘b, . R

_ | )

The three angles of a triangle are x, y and 40°. The difference between two
angles x and y is 30°. Find x and 7

A & 13- 42 = x45. 2

" Solve ¥13-x2 = x+5.

\ys-sﬁﬁﬁwaﬁm‘wﬁﬁaﬂmmmﬁmaﬁ: 2

Find the curved surface area of a hemisphere of radius 3-5 cm.
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1] (110]

-
) "% T e
- S 'i_tq_,:- k- o F -‘;_____
— T
~
-

T2 g W, w g & e s s A 2

%G-‘%Tsmu}cmd_gﬁmgmgmmﬂﬁmiﬂpaﬂ@

x’

1‘ . ‘-"-? - - - -

wg-fﬁ‘af-x—l??’i-qmiﬁmﬁl 2
rmdthemofthcpdynumialaxz-x-‘?-

—

SR W W 26 % 7 o= e 10 dew #1 9F T 8, @ dend 7|

e
g
t“l

2
The difierence of two numbers is 26 and one number is three times of other;
then find the numbers.
16— S5 541 8, 3,- 2, = WoH 22 G 1 47 A F4 2

Find the sum of first 22 terms of the AP. 8.3-2,.

17. S35 t‘i?aﬁm—r@m-ﬁgﬁmﬁrﬂﬁmt R
-;-:"‘UTSO’%ITIF%‘@%B_H_{! _ 2

meapomton@gmundwhmh:satadlstanceofSOmfromthefootufa

tower, the a-liggof elevation of tower is 30°. Find the height of the tower.,

> o 1-cotd 2
1 e = cot29. 2
1-tané )

12:/5& 45° cos45° - sin 30° cos 30° FI AH el 1 2

Find the value of sin 45° cos45" - sin 30° cos 30°.
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n , | [110]

Eo/ﬂﬁcosA:%?chntAl‘.ﬁlanAWWWﬁ' 2

e

If cosﬂ--%, then find the values of cot A and tan A.

21, R fag P(r,4) T et g @ gt s TFE A Al 2. FT A 0T HT 2

If the distance of point P(},4) from origin is 5 units, then find the value of 7.

/ﬁz/wgumﬁﬁrﬁuﬁwwswswgqa’3x+2y=4ﬂﬁﬁ?ﬂﬁ| 2

Find the solution of the equations 8x + 5y = 9 and 3x + 2y = 4 by cross-

multiplication method.

}/fﬂaﬁﬁnmw.tan23°.tan42°.tan67°=1. 9
Prove that tan 48° . tan 23° . tan 42° . tan 67° = 1.
/@mwm#m@fuwf 181 2

Find a quadra‘ac po y;@?ma] whose zeroes are J3+1 and V3-1.

25. qmmqa%?\@%mﬁﬁms«; A &1 39 = gwmﬁa‘rwmm

Iﬂsfﬂwwm%l _ - | 5

A wire is in the form of a circle of radius 84 cm. Find the side of a square which
can be made by this wire.

26. T ¢ e fogl (3, 3), (a,ow’ﬁ(o b)ﬂ’f@”f%‘uﬁ: 1.1 2
3°
Proveﬂmtpomts(ii 3),(aq, O]and(O b)a.recnllmca.rlf—l- 1_1-
a b 3
S-I | =] 17001-(s9/70) Page 44/48
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[110]

=J

W % B tan? $+cot?

d+2msecd §- cosecd.
Prove that tan? $+cot? P+ 2=sec? ¢ cosecy.

xRy o ey i ol g (o g), B (3,60 (=340 F
WY ¢ 2

Establish a relation between x and y, when point (X, y ) is equidistant from the
points (3,6 ) and (- 3, 4).

20, AN Sl Aol Rt wed 7 R R € 2
How many three digit numbers are divisible by 7 ?

30, & 4, 4B W £C; AABC ¥ FRAW E A Rg T B cosSa” =sin. 2

[
v~

a

If ZA 4B and ZC are internal angles of AABC then prove that

A+B . C
cos—5 =sing.

e I W I Long Answer Type Questions

mwslﬁsaaﬁér@\m%mﬁwmﬁ%mmmma:
ﬁlﬁswﬁqﬁﬂ%l N | 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks. ' 4x5=20
31, 2 wEmsh ¥ A w S 180 §1 AR S o W i wE Wew = S [ E, A
QI HEATE T | 5
The difference of squares of two numbers is 180. If the square of smaller

number is 8 times of bigger number, find both the numbers.
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[110)

Using graphical method, solve the pair of equations 4x-5y=20 ang

3x +5y=15.

sin0-cos0+1 _ 1 - . 5
y'/ﬁm i sin0+cos0—-1  secO-tand

34.

39.

36.

b sinG-cos0+1 - 1
Prove that sin0+cosf-1  secO-tanf’

5 A Yo A UF QAR W % a9 @ A g @ el w5
o H | 5
Draw a circle inside an equilateral triangle of side 5 cm which touches the sides

of the triangle. ‘ _ .
fag ¢ fp 3 TR et Y@ret & oY farg &1 Sl 9l 1EEvE 39 1 I
B 21 \\Q@ ' 5

Prove that the line scg@t joining the points of contact of two parallel tangents
NS

to a circle is adigs,@&er of the circle.
Th FEER T .9 GF 50 et Fat AR g € Afee a W R ¥ dew

% Ui | W & S e fR % arem @ e 300 w91 450 ¥ g
i 7 5 T 5

A vertical flagstaff and a 50 m high tower are situated on the same horizontal

.

base, From the top of the tower, angles of depression of uppér and lower ends of

flagstaff are 30° and 45° respectively. Find the height of the flagstaff.
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38.

_ (1101
’ o - . 5
R St 1 w15 % o s e 0 R ¢
; ) 23-25
- Ty 1-13 | 1315 | 1517 | 17-19 | 1921 | 21 23
: 4
T B gEgr 7 6 9 13 / 5
The mean of the given data is 18. Then find the unknown frequency :
Classinterval | 1113 | 13-15 | 1517 | 17-19 | 19-21 | 21-23 23-25
4
No. of children 7 6 9 13 f . 9

ﬂﬁ%@mw*mmﬂwm@w%ﬂmm%l
A SO W FER loﬁﬁ-aﬁ?ﬂm%maﬁ%ms-sﬁﬁz’f?ﬁﬁﬁqmw
TS S SR e T i |

5.

An article is made by scegpfné out 'a hemisphere from each end of a solid

wooden cylinder. If the height of the cylinder is 10 cm and its base radius is

3-5 c¢m then findthe surface area and volume of the remaining solid.
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